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Q-1 What are the three r’s to water conservation?
(a) Reduce, recycle, reorganize
(b) Reduce, reuse, resupply
(c) Reduce, Resupply, Redistribute
(d) Reduce, reuse, Recycle
Q-2 Which one of the following is not the cause of water scarcity? 
(a) Rapid growth of population
(b) Uneven distribution of water resources
(c) Construction of dams and reserves
(d) Increase in demand
Q-3 Oceans contain _____________ volume of water.
(a) 90 per cent
(b) 75 per cent
(c) 96.5 per cent
(d) 98 per cent
Q-4 Water is a renewable resource because
(a) it is being recycled by human beings.
(b) it is renewed and recharged through hydrological cycle.
(c) it is being renewed through reduction.
(d) it can be reused again.
Q-5 Water scarcity occurs due to
(i) low rainfall in a region
(ii) large population
(iii) over-exploitation
(iv) unequal access
(a) (i) and (ii)
(b) (ii) and (iii)
(c) (i) and (iv)
(d) All of the above
Q-6 Which is not a source of fresh water?
(a) Glaciers and ice sheets
(b) Groundwater
(c) Surface run off
(d) Oceans
Q-7 Which of the following are not causes of water scarcity?
(a) Growing population
(b) Growing of water intensive crop
(c) Expansion of irrigation facilities
(d) Individual wells and tubewells in farms
(e) Water harvesting technique
(f) Industries
(g) Roof top harvesting system
Q-8 Which one of the following is not an adverse effect of irrigation?
(a) Irrigation changes cropping pattern
(b) Water intensive crops are grown in dry areas
(c) Salinisation of soil
(d) Increases crop yield
Q-9 In Western Rajasthan today plenty of water is available due to:
(a) rooftop water harvesting
(b) perennial Rajasthan Canal
(c) construction of Tankas
(d) none of the above
Q-10 The only State which has made rooftop rainwater harvesting structure compulsory to all the houses is:
(a) Andhra Pradesh
(b) Karnataka
(c) Tamil Nadu
(d) West Bengal
Answer:
1- (c)
2- (c)
3- (c)
4- (b)
5- (d)
6- (d)
7- (e) and (g)
8- (d)
9- (b)
10- (c)
